PUBLIC SCHOOL DARBHANGA
Session 2020-21

Class:6 Maths ( NumberLine-Addingintegers)

Example1: —2+3=1 Example2: 4+ (-8)=-4
+3 +(-8)
D T R T e B N MR
D I e I S B B B g <
-4 3 -2 -1 O 1 2 3 4 -4 -3 -2 -1 O

Use the number line to find the sum.

1) 4+ (-5) =

-9 -8 7 6 5 4 -3 2 -1 0 1 2 3 4 5
2) —7+2 =

< | | | | | | | | | | | | | | |

N | | | | | | | | | | | | | | |

-9 -8 7 6 5 4 3 2 -1 0 1 2 3 4 5
3) -3+(4) =

< —————— 1

-9 8 7 6 5 4 3 2 -1 0 1 2 3 4 5
4) 1+7 =

< 1

-9 8 7 6 5 4 3 2 -1 0 1 2 3 4 5
5 3+ (-12) =

< 1t

-9 8 7 6 5 4 3 2 -1 0 1 2 3 4 5
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Name: Score:

Answer key
- Number Line - Adding Integers
Examplel: —2+3=1 Example2: 4+ (-8)=-4
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-4 -3 -2 -1 0 1 2 3 4 -4 3 -2 -1 0 1 2 3 4
Use the number line to find the sum.
1) 4 +(-5) = =1

< | | | | | | | I | | | | | I | | | | | »

-9 8 -+ 6 5 4 3 -2 -1 0 1 2 3 4 S5 6 7 8 9

2) -7 +2=
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-9 8 1+ 6 5 4 3 -2 -1 0 1 2 3 4 5 6 7 8 9

3) -3+ (4)=___ -7
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5) 3 +(-12) = -9

h 4
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